LR R BB RV 111 BAEEREE — 2] fi s

B | BE BEEF & B | HE B EF g
*E= L5(8/30)
08.30 | RERREHER (8/30) 1113
_ R EPIEHS (8/31~9/5) + 09y 8 PR 6 SR A B BB 25 (11/14~12/30)
T memEERRE /) = T | RO EEASE- P EER(1L/18)
09.03 | mmpmnems (42 ) BEwmH 1119
BB A EEE/3-4)
*PIKEREMR 9/9 ~ 9/11(F ~ B) A=< AT T
09.04 |B5FIE 22— B TIETE(9/1-10/14) 4 1120 | xEsiEEmE -
_ - | BEREERIE(9/5-16) _ - M~ NEHMAE(1L/21-11/22)
09.10 | REREMFAYISE/5-8) — | 1126 | —~Z=E&KEMEH(11/23)
SEKENEE (B ) A5 = NERISE(11/24-11/25)
*xFELE - REEENESE (9/12 ) XEHN G
09,11 ‘X~ AEARH 110 FEARA(/L5) 1107 | I B4 - B52E(11/29)
— | ERms R R R REE9/14) + <1 2rFER11/30)
- IR BB B 5T A(9/16) m i 5 ZER12/1)
09.17 | o ran s k8 5828 (9/16) 1203 | axE=rEaE12/2)
* T ~RERVIRE(9/17 7) *EEENBENBHRER (12/3 %)
BESE B m B AR (9/2])
m 09;18 S BEEEERE L H(9/23) + 12;04 X EEE R B (12/5 —)
i B AN A B AT (9/23) i 0 ~ 7 AR B AL B L e
09.24 | rssmsr smatissn ®/BIE R - BRIH(9/24) 1210
AN BER AR/ HEEREREEER
W2 - BAE(9/25)
- 09;25 B N RI2E:2(9/26) + 12;11 RS E(12/12-16)
BRI A LB R AR LE(9/27) ~ REUE  BREORFESE(12/16)
1001 | wemammmAe 1217
Covid19 B8 - FREEE T (E =)
. S = CERETA
10,02 RELEESEEBERTAEEHA0F) 1218 | @i g%ﬁéﬁé%iﬁé’%ﬁ%ﬂ(ﬂ/zn
" T EEemnEEE + ) e e (12/19.12/2
2 ESE R R E A (10/3) + _PFARIRRIRE(12/19-12/20)
10.08 | m:z youtuber R 888 (52T 10/7-10/28) 12.24 | BERH_~AERARARES] 12/19-23)
' 2i8ZI=E—H15EE (12/23)
+ 10;09 * 88+ 8538 AL (10/8~10/10) + 12;25 g (@3B~ - A/EH )
= B A . Bt R
Loqs [EFT 111 BEESERMLE0/12-13) N |,y | BELEERER2/30)
*x7cBiE R 12/31~1/2(;H—)
N 10;16 *EEIME (B2 S~r/HE = F) + 01;01 *1/7(R)BEHE L3R (INER )
RBELZEBETEFBEHBZEH(10/20) ik SH150 7822(1/6)
10.22 0107 | mampepstmmicmsl/e)
B EEE(10/24-10/28)
10.23 _ | 01.08
B B LR B (B A ) (10/25~10/28) - S
ol - mranmE, BERE(10/24-11/4) 4o | KRR 1/12-13 (R~ 5)
1029 | e mzome e mmEE10/27) 01.14
1030 *HPHENE11/3~4 (W~) = | oL15 | ERARBOY)
+ _ BaEabEHEEAL)(11/1~11/4) + ) REIREE FRRAEER(1/18)
RS —EE, BEWA(11/1-11/10) xtkgEt 1719 (I )
1105 | ryjupmesns | sm(11/5) — 0121 | 100 (&) NERBERE - 1/21 (K ) BY
1106 oLz | V2IGNE 1/26(m)&# - 1/27(E) BERE
+ | 7 | memsiams) (BAG-ERE) = O 2/ B EHE(1/27)
_ - 3 s—gg — B3
1112 (11/8~11/11) & 02.12 BT EE 2/13(—)ER R

2/18 w17 £ EER(% 2/27)




